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Choose the correct answer from the following: 1X10=10
1. The Eigen values of a triangular matrix are.....
a. 0 b. 1
c. 0or1 d. None of these
2. Order of the convergence in Newton-Rephson method is
a. 2 b. 3
C. 0 d. None
3. The pair of equations 3x - 5v = 7 and - 6x + 10y = 7 have
a. a unique solution b. infinitelyv many solutions
c. no solution d. two solutions
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a. 3 5 b. 2 2
HIed
c. 3 5 d. None of these
5.  The disadvantage of Picard’s method is
That can be applied to those equations only in which successive integrations can
a. :
“ be performed easily.
That can be applied to those equations only in which successive differentiation
b. ;
can be performed easily.
That can be applied to those equations only in which successively differentials
c. 3 : ;
and integrations can be performed easily
d. None of these
6. The Newton Raphson’s fails when
a. f/(x) is negative b. f/(x) is too large
c. f/(x) is zero d. None
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